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B % W & H #% (H) 357 363 364 365 362 364 362 364 364
] £ IRF M (RFRE) 8, 640 8,701 8,718 8, 731 8, 693 8, 724 8,720 8, 734 8, 742
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z o B A (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
10 B o &% & H (mg/m3) 0. 095 0. 095 0. 094 0. 066 0.117 0.133 0.126 0. 096 0.102
1 HEHED 2 %BRAME  (mg/m3) 0.035 0. 031 0. 028 0. 027 0.031 0.035 0. 026 0. 031 0. 028
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% 254 FE 0.013 0.014 0.018 0.013 0.012 0. 025 0.023 0.013 0.013
26 0.015 0.015 0.019 0.012 0.013 0.014 0.023 0.015 0.014
27 0.014 0.013 0.018 0.012 0.012 0.012 0.021 0.015 0.014
28 0.012 0.013 0.016 0.011 0. 009 0.010 0.018 0.013 0.011
29 0.012 0.013 0.016 0.011 0.011 0.011 0.018 0.013 0.011
30 0.013 0.014 0.016 0.012 0.013 0.013 0. 020 0.014 0.013
BRI E 0.012 0.012 0.015 0. 009 0.010 0.010 0.017 0.013 0.010
2 0.012 0.012 0.016 0. 008 0.010 0.010 0.016 0.012 0.010
3 0.011 0.010 0.016 0. 007 0. 007 0. 008 0.010 0.010 0. 009
4 0.012 0.011 0.011 0. 008 0. 009 0.010 0.011 0.011 0.010
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